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MENTAL ABILITY TEST / wengdnen Csitey

Direction : (Questions 1 to 10)

In each of the following questions,
the numbers/letters are arranged based on
some pattern or principle. Choose the correct
answer for the term marked by the symbol
?):

1. 0,3 918 30,?
(1) 48 (2) 42
(3) 36 (4) 45

2. 6,918 21,30,?

1) 38 @) 33
B) 36 4) 39
4 16 3 27 8 18
1) 16 @) 10
3G) 9 @) 12
4 5 | 3
8 | 10
35 | 27
‘ 1 18 2) 40
! 3) 21 @) 24
\-'L 5. 4 5 3
6 32 69 5
} 5 3 7
1) 86 2) 138
3) 76 4 120

aflppep eflerr eram 1 g 10 cuany

Epssrenib ferrésaiey eramaer /
TWHSIGSHET @ GO L alfuleriig
aflesiuBssuul Gearerar. CaerelsE:n
() @riul@drer @Lsfipe efwren
aflenL_epis Comb0sHSEaLD.
1. 0, 3,9 18, 30,7

1) 48 Q) 42

B) 36 (4) 45

2. 6,918,21,30,7?

1) 38 2) 33
3) 36 (4) 39
4 16 3 27 8 18
1) 16 @) 10
3) 9 4) 12
4 5 | 3 | 3
10 | 8
35 | 27 | 2
1) 18 2) 40
3) 21 4) 24
4 5 3
6 392 69 5
5 3 7
1) 86 2) 138

B) 76 4) 120
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6. 8 7 9
2| 6 33| 44 (a5 2
9 8 11
1 22 () 88
3) 69 (4) 153
7. 2 10 5 17 26 50
26 37 ?
1) 82 ) 81
3) 48 @) 26
8. [125 51 56 45
71 111
21 18 39 ?
(1) 195 (@ 139
3) 121 (4) 84

EROORORO
& 08 5%

1) 160 2) 116

(3) 150 (4) 128

9
6 |33 45 2
11
22 (2) 88
69 4) 153
2 0 5 17 26
YY)
82 2) 81
48 @ 26
51 56
71 111
18 39
195 @ 139
121 4) 84
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10. How many triangles are therein the given 10. Gar®h&ssuul(Hetar eaumruL gl
figure ? TEHHME (PSCHTERTRIEET 2_dremen ?

A
2]

" 1) 8 (2) 10 (1) 8 2 10
! @) 12 (4 1 @) 12 (4 11

Direction : (Questions 11 and 12) (eQem erair 11 (W@ ed 12 cuenry)
11. The number of squares in the given figure 1. Qsr@ss Ul Harar amruLGHe

is o eTem  FgEIGailen eramaisams

@ 9 (2 10 1 9 2) 10
3) 14 4) 12 (3) 14 @ 12

12. 2*5 = 83325 ; 4*6 = 6410036, 3*7 = 277649 12. 2*5 —_ 83325 ; 4*6 — 6410036, 3*7 - 277649

then 5*9= —_ GTEIMTey 5*9= .
(1) 12520681 (2) 1254481 (1) 12520681 (2) 1254481
. (3) 25704729 (4) 125604729 (3) 25704729 (4) 125604729
\
13. Insert the missing number : 13. AUl L eramenant CargEse :
“»,\'_
\b 3 |15 , 3 | 15
2 2544 6 2
. ;
: 10 289) 7 13 10
i
‘ 7 | 12
(1) 625 (2) 125 (1) 625 (2) 125
. (3) 225 (4) 25 (3) 225 (4) 25
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14. Which one of the following pairs is

different from other three pairs ?

1)
2)
)

BFJN : YUQM
EIMQ : VRNJ
GLQV : TOJE

14. &Gy Qar@ssuuferer Gamgsafle

THSE
Camig sefledl (b g

Gsmg OO e

mngu@aﬂmgﬂ

CTETLIENGS STEITS:

1)
(2)
(3)

BFJN : YUQM
EIMQ : VRN]
GLQV : TOJE

(4) KOSW : PLHD

15. Choose from the given options, the correct
letter-number pair to replace the ? and to

continue the series.

Q
<P

LN N S
STAVAVAZ

(1) S/10 (2) U/4
3) 3/X 4) 6/U
Directions : (Question numbers 16 to 20)

According to the relevance of three
elements in each question, choose the sets of
elements which exactly fit in one of the
diagrams marked as (A), (B), (C), (D) and (E).

(©90€ $000@©(§)

(A) (B) © ©®O 6

16. Crow : Pigeon : Bird
1 ® (2)
(3 @) 4)

(©
(E)

(4) KOSW : PLHD

15. &Gy Qsr@ssiul(Harer edlepLsafle
@Q&mpbg  Csarells @GOl (?)
QLG Gurmssorer (sflwrer)
T(&gl-eram Cargeaw Ggiel Cewig
Qeeuflengans CgTLiTs.

ZAVAVAVAVAV,

2

(1) S/10

2) U/4
@) 3/X (4

)
) 6/U

aflpen: (elearr erawr 16 wpger 20
cuanr) |

&G Qar@sslulBerer efarmssa e
o I samaaiguerer Qgrirlener Qumrm-
531, (A), (B), (C), (D) wpmwd (E) eramaytd
uLmsefleo  GQumr@msswobrar ULE®S
Cairay Celis.

(D0¢_pooo@(S)

(A) (B) © ©

16. Crow : Pigeon : Bird
1 ® (2)
3 (A) )



17.

18.

19.

20.

21.

India : Earth : Jupiter

1 @O 2)
Gy (B (4)
Music : Rhythm : Dance
1 (D) 2)
G) (®) (4)

Cells : Tissues : Organs
1 (® (2)
G ® (4)

Television : Computer : Typewriter

1 (© 2
G &) 4)

The number opposite to ‘3" in the given

dieis:

(A)
(B)

(A)

(E)

(A)

(D)

(E)

17.

18.

19.

20.

21.

[CODE[ x T 1 [14]

India : Earth : Jupiter

2 &)
@ ((®

2 A
@ ®

Cells : Tissues : Organs

1 ®
3 ®

2) &)
@ (D)

Television : Computer : Typewriter

2 (D)
@ (B

uLSdaeTer LisenLufled ‘3'- &@ erd Gy

O_GITEIT GTEHT:

S 69 & 6

Gy 1 (4)

2

@) 1

4) 2
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22.

23.

24.

If P stands for ‘ +’ 22.

Q stands for ‘=’
R stands for “ X’
S stands for ‘ <+’, then

2P4Q6R8S1R3Q5P7 is :

1 O (2) —136
(3) —150 4) 2
Find the odd man out in the series. 23.

64, 71, 80, 91, 104, 119, 135, 155
1) 71 @) 80

3) 119 @4) 135

Find the odd figure in the given sequence. ~ 24.

Y

Vi

%

N

(A) (B) © (D)
1 &) @ ®
@) © @ O

P eramug) ‘ +’ ereeyLd
Q ereng ‘—’ eraneyld
R ereniuig) ‘ X’ erameyid
S eremuig) ‘ +’, eraneyld @(HBSTED

2P4Q6R8S1R3Q5P7 eraniigl :

1) o 2) -136
(3) -150 @) 2
Qar@&ssliul_(erer Qarifle

GoumIul L 6ng DAPLWITETD ETERTS.
64, 71, 80, 91, 104, 119, 135, 155

1) 71 2) 80

(3) 119 (4)

135

Qar@ssiiul_Hetar Qgrfleo Geumi-

ulLeng SI@LWITETLD &HTeurs.

%

(A) (B) © (D)
1 (A 2 (B
¢ © 4 (D)



25.

26.

27.

28.

Complete the series.

0.5, 0.55, 0.65, 0.8, __?
(1) 085 )
(3) 0.95 (4)

0.9
1.0

A man starts from his house and goes
5 km towards north and turns right and
goes 5 km. Again he goes 5 km to his left
and turns left and goes 15 km further.
Now, in which direction is he from his

house ?
(1) North (2) North-West
(3) East (4) North-East

If A\E=C ; H*L=] ; P*T=R then,
J*(L*P)=?

1) K 2 I

¢ L 4 N

Choose from the given options, the correct
Letter-Number pair to replace the (?) and
to continue the series .

E | H
B K
11 ?
8 5
1| 3 )
@) 2 (4) 6

25.

26.

27.

28.

[CODE[ x [ 1 |14 |

ECy Qar@ssuu(harer Qgm_flener

LisS Clewis.

0.5, 0.55, 0.65, 0.8, ?

(1) 0.85 2) 0.9
(3) 0.95 @) 1.0

@meul e &l igdlBbg ULEG
Gpréd 5 £.8. gryb Ceamm g
Lo w5 S5, gy Csdnm.
Sem@n @y 5 H.15. Geeary
UG LD @Lgiyph 15 .8, girw
Qaempred sHCUTE Heul Gem el iq -
Nmpg eTsHensudler @it ?

1) aL&®E 2) auLCopHs&aE
(B) Hwso (4) «uLdPsE
A*E=C ; H*L=] ; P*T=R erafleo,
J*(L*P)="?

1 K 2 I

@) L (4) N

&G Garhssiiul_(Herer aflenL sefl-
Olmpbg Csearalls @oHludiiL  (?)
@LsdneE Qurmsswrear (Fflurer)
erupsgi-erar Gamgenwr GCaiey Gelig
@eucuflengemw CgTLis.

;
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29.

30.

31.

32.

If POUND is coded as MLRKA, how will  29.

ENGLISH be coded ?

(1) AKDJEPF (2) BJDIFOE

(3) BKDIFPE (4) BKDIDOE
SHINE, VEMJJ, XBQFO, ? 30.
(1) ZXTAS (2) AYUBT

(3) BZVCU (4) WTUAV

The mirror image of the word WEATHER. 31.

(1) MEVIHAIA
(2) SdHLAIIW
(3) MIATHIR

(4) JAHTAIWNW

Paper : Pen : : Blackboard : . 32.
(1) Teacher - (2) Student
(3) Notebook (4) Chalk

10

POUND cramm @Qerdepe MLRKA
carn  GHUGseTTE GNESTe,
ENGLISH erenp GQ&reéd ereueurml
GO&sLLHD ?

(1) AKDJEPF (2) BJDIFOE
(3) BKDIFPE (4) BKDIDOE
SHINE, VEM]JJ, XBQFO, ?

(1) ZXTAS (2) AYUBT

(3) BZVCU (4) WTUAV
WEATHER retm  Ggmeedl e

SarenTig uAled B GDLID.
(1) MEVIHHZI
(2) SFHIAINW
(3) MHATHHR

(4) SIHTATIW

Paper : Pen : : Blackboard :

(1) Teacher (2) Student

(3) Notebook (4) Chalk
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Direction : (Questions 33 to 39)

In the following diagram Rectangle

represents women, Circle represents urban,

Triangle represents Post Graduates and

Square represents librarians.

33.

34.

35.

36.

Who among the following is a Post
Graduate who is not an urban resident ?
(1) 6 @ 7
3 11 @) 20

Who among the following is a Woman
Librarian, who is neither post graduate
nor belongs to urban area ?

@ 9 (2) 15

(3) 6 4 10

Who among the following is a woman,
arban and also a librarian but not a post

graduate ?
1) 15 2 14
(3) 8 (4) 12

Who among the following is neither a
librarian nor a post graduate but is urban

and not a woman ?

1) 4 @ 5
3) 8 @) 12

[CODE[ X | 1 [ 14 |

anflpep:(edam craim 33 (WSS 39 aweny)

Qscdeu&ELD

EC Qar@asuerer uLGdle
QuUeERTS®ETULD, QLD

;r)a;r'rqg)g,mgyu_‘m, W&CaTEID (PHE@D

ul_LgrilgsemeTuid, ggITLD r_j,na)&;frassmmuto
penpGul G &&l et

35.

36.

11

10

11 3 16

&CGip @&W@éESSDULL@JﬁGS@dT ereum
BET QUTHLOOTS (PHED Ll L gri?
1) 6 2 7

@) 11 @) 20

&Cw Qar@ésiul L6l T&sEher GT U
BETEDSHE FTIHHTTS, (PESDL
Ll Lgrfl Sderg Gue HIST ?

1) 9 @) 15

3) 6 @) 10

&G Qar@&sLL L euTsEher ereurm
B&T UL ClLiar EQOSIT, <, ETEd S|euf
(PSS ulLgrfl @eeana ?

1) 15 2) 14

3) 8 @) 12

&Cip Qa;rr@é;asuuLLL_@Jfraé@dr Greui
IS HLD A0, WEIS®® UL~
grilud SO TR, BETSMESE
Gaipseur, Gogih e QIGHT HO®.
1) 4 @ 5

3) 8 @) 12
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37.

38.

39.

40.

41.

42.

Who among the following is only a
librarian but not a woman nor urban

resident and not a post graduate ?
@ 9 (2 10
3 11 4) 16

Who among the following is a man, urban

resident and also a librarian ?
1 8 2 9
@) 12 @) 15

Who among the following is a post

graduate woman who comes from urban

area ?
(1) 6 (2) 14
(3) 13 4) 7

351 means “Students like maths” ; 197
means “We are students” and 748 means
“They are parents”. The digit for “We”
is:

1 4
G 9

2) 8
4 5

If ‘BROTHER’ is 86 ; ‘FATHER' is 58 and
/SISTER’ is 90 then ‘MOTHER’ is
1) 83
3) 79

73
52

)
4)

If fifth day of a month is four days earlier
than Wednesday, what day will it be on
Twenty eighth day of the month ?

1)
®)

)
)

Sunday Monday

Tuesday Wednesday

12

38.

39.

40.

41.

42,

&Cup QarH&sILLLeIT&Ehar Grauf
QU ADOTS, BETSDMSF CerbSlrms
WpgiIsme UL LSTTLOOTS BHIST?
1 9 @) 10

3) 11 4) 16

&Cip Qar@ésiiul Lauls@per ereuf
B&T CUTLD @ HEO&T?

1w 8 @ ?

@) 12 4) 15

&Cip QsrH&sIUL LTS @har eraul
BET QUL (PEISEEOL ulL gl Gue?

(2) 14
@ 7

1) 6
3) 13

351 eremig “Students like maths”; 197
eremig) “We are students” WOmID 748
ereng) “They are parents” 6r aflé “We”
cremugpaTen eram GHWUE |
L 4 @ 8
@) 9 @ 5

‘BROTHER’ ereruig 86; ‘FATHER’
erenLig 58 wHMID ‘SISTER ererig) 90
eraiiéo ‘MOTHER’ eresiig)
(1) 83 (2)
G 79 (4)

52

P LISHHET BHSTAIS) HTET LiF6N
£pepLné@ BIENE BHILSaT PHEDGW
preT erafled wrssHen 28 ~aigl BTG
TS BIETS SienOWLD ?
1) @iy @
(3) Qeeueumul (4)

S miger

Ligen
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43. The next figure in the following sequence 43. Seneumaiaelphé® HHBSSTS
of figures is : QU(HID LiLS&evans SIS

o] g a
O O O

t A O A A 0O ' A
‘ (1) ) O (1) @) =
; + + + +

A A O A A O
1 3) = @) * 3) O @)

+ +

44. The next figure in the following sequence 14. GaaumaiaapdpE h5&55TS

| of figures is : GU(HLD UL Hepars STETS.
; o ol a7 2 o o oF 2
| | 2 ‘ L ?
. A olld Al¢ D s ol@ Ajo o

(1) 2) ( 2

© M A "o m Y a @

: TN A [ 5] A A @
f (3) 4) 3 4
; & @ g e & ly @ Pl o

13
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45. The next figure in the following sequence 45. GenaumaiaaipMHG AR SSSHTE

of figures is : GU(THLD LIL.(BZ')é]GDGNéS SIS :
3 = o + X = Y + -
= x + A = %
+ b = x ? + I}x =+ X ?
brg + X = )+ + X =
— % = = =
+ X + X
1) = 2) X 1) = 2) %
X + X +
X = X =
= X = X
3) + (4) + 3 + @ +
g g 23 g
46. |O N [=! olla ol e A 46. |O Alio Olla olje A
? ?
O x  olle  R|lm g O s alle  Rlim 9
m ® - | |

1) )

> ®
»
s> @
>
o> ®

1) N % (2) .

(4) (3) (4)

c
o
> pe N
»
DA @
®
> pe B
»
> @

®)

14



48.

49.

* 50.

AT

Find out the word that cannot be 48.

formed by using the letters in the word
“ERYTHROBLAST” :

(1) BLAST (2) BLAME

(3) THEORY (4) ROAST

From the four alternatives only one differs 49.

from the remaining three. Identify it.
(1) Aries () Virus

(3) Aquarius (4) DPisces

Choose the correct answer for the term 50.

marked by the symbol (?) .

P3, 2,19, G12, D15

1) Keé 2) M6

@) M8 @) 18

15

[coDE[ X [T [14]

ﬁ@asrr@nb “ERYTHROBLAST” et &I
QUi en g udl @l arer TPSH HHMETS
Qarar() o HeursEs (Prgl Qemred
TSl ?

(1) BLAST (2) BLAME

(3) THEORY (4) ROAST

SPEHTEILD Qgr@ude o @rereupmled
AGEHWTFOTE 2 aTeng) erg) ? '

(1) Aries (2) Virus

(3) . Aquarius (4) DPisces

dars ROl @LsHe
aurGeuamgul erapsg-eram Gamene

TGl ?
P3, 2,19, G12, D15
(1) Ko (2) M6

(3) M8 4) 18
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LANGUAGE COMPREHENSIVE TEST (ENGLISH) / Quonfis Cziey (cgblfﬂé]s\)ﬁ))

Directions : (Question numbers 51 to 55)

Read the following passage and answer the
questions given below :

Fleas are perfectly designed by nature to
feast on anything containing blood. The bodies
of these tiny parasites are extremely hardy and
well-suited for their job. A flea has a very hard
exoskeleton, which means the body is covered
by a tough, tile-like plate called a sclerite.
Because of these plates, fleas are almost
impossible to squish. The exoskeletons of fleas
are also waterproof and shock resistant, and
therefore fleas are highly resistant to the sprays
and chemicals used to kill them.

Fleas are some of the best jumpers in the
natural world. A flea can jump seven inches,
or 150 times its own length, either vertically or
horizontally. Fleas can jump 30,000 times in a
row without stopping and they are able to
accelerate through the air at an incredibly high
rate, a rate which is over ten times what humans
can withstand in an airplane. Fleas have very
long rear legs with huge thigh muscles and
multiple joints. When they get ready to jump,
they fold their long legs up and crouch like a
runner on a starting block. Several of their joints
contain a protein called resilin, which helps
catapult fleas into the air as they jump, similar
to the way a rubber band provides momentum
to a slingshot. Outward facing claws on the
bottom of their legs grip anything they touch
when they land. The adult female flea mates
after her first blood meal and begins producing
eggs in just 1 to 2 days. One flea can lay up to
50 eggs in one day and over 2000 in her lifetime.
Flea eggs can be seen with the naked eye, but

16

they are about the size of a grain of salt. Shortly
after being laid the eggs begin to transform into
cocoons. In the cocoon state, fleas are fully
developed adults, and will hatch immediately if
conditions are favourable.

51. The primary purpose of the passage isto:

(1)

educate the reader about the
physical characteristics of fleas.

(2) compare fleas to other members of
the animal kingdom.

(3) relate the problems that can result
from a flea infestation.

(4) explain that a flea exists everywhere

and hard to get rid of.

52. According to the passage, fleas are
resistant to sprays and chemicals because
they :

(1) have waterproof sclerites
(2) are excellent jumpers

(3) reproduce very rapidly
(4) can stick to fur like Velcro

53. According to the passage, fleas are able to

jump :

(a) with a high rate of acceleration.

(b) up and down and from side to side.

(c) because the blood they eat contains
resilin.

(1) (a) only

(2) (a) and (b) only

(3) (b) and (c) only

4) (a), (b) and (c)



e

54. Based on information in the passage, the

reader can understand that :
(1) fleas will die without access to blood.

(2) fleas survive at a higher rate in

outdoor habitats -
(3) fleas will die after they produce 2000
eggs.
(4) newly hatched fleas are the size ofa
‘ grain of salt.

55. It can be inferred that fleas will emerge
from eggs as adults :

(1) when they outgrow the cocoon.
(2) aftera period of three weeks.

(3) when they sense there is access to
blood. '

(4) if there is too much carbondioxide
in the cocoon.

Directions : (Question numbers 56 to 60)

Read the following passage and answer the
questions given below :

The greatest enemy of mankind, as people
have discovered is not science, but war. Science
merely reflects the social forces by which it is
surrounded. Itis found that when there is peace,
science is constructive, when there is war,
science is perverted to destructive ends. The
weapons which science gives us do not
necessarily create war, these make war
increasingly more terrible. Until now it has
brought us to the doorstep of doom. Our main
problem, therefore, is not to curb science, but to
stop war to substitute law for force and

international government for anarchy in the

[CopE[ x | 1 [14]

relations of one nation with another. That is a
job in which everybody must participate,
including the scientists. But the bomb of
Hiroshima suddenly woke us up to the fact that

we have very little time. The hour is late and
our work has scarcely begun. Now we are face
to face with this urgent question, “Can
education and tolerance, understanding and
creative intelligence run fast enough to keep us
abreast with our own mounting capacity to
destroy” ? That is the question which we shall
have to answer one way Of the other in this
generation. Science must help us in the answer;

but the main decision lies within ourselves.

56. According to the authpf, the real enemy
of mankind is not science but war, because:

‘(1) science during wars is sO destructive.

(2) science merely invents the weapons
with which war is fought.

(3) the weapons that science invents
necessarily lead to war. -

(4)  the weapons invented by science do
not cause war, though these make it
more destructive.

57. War can be stopped if :

(1) weapons invented by science are not

used to launch a war.

(2) science is restricted to be utilized

only during war time.

(3) science is not allowed to lead us to

utter destruction.

(4) we replace force and lawlessness by

law and international government.

17
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58. Which of the following is opposite in

meanif\g to the word “anarchy” as used in

the passage ?

(1) law and order

(2) economic prosperity
(3) political dorﬁinance

(4) communal harmony

59. The phrase ‘our work has scarcely begun’
implies that our work :

(1) has not yet begun
(2) has begun but not yet completed
(3) has only just begun

(4) has been half way through

60. According to the writer, the main objective

isto:

(1) prevent scientists from participating
in destructive activities.

(2) abolish war
(3) stop scientific activities everywhere

(4) stop science from reflecting social

forces

Directions : (Question numbers 61 to 65)

Fill in the blanks with the most appropriate

option given below :

Some theorists believe that the conditions
of urban life harm the people who live in cities.
Louis Wirth __61 __in the 1930s that the huge
number of people, population density and great
social diversity of cities led to 62 _, impersonal
relations, and stress. Many since then have
agreed with him. People live 63 closeto
one another but are socially distant. They make
few friendships outside their own racial, social
or economic group. And they are constantly
attacked on all sides by 2 variety of sights,
sounds, and smells. They are 64 bumped
by others on the street. They hear their
neighbours’ radios through thin apartment
walls, and sirens __65___ at all hours of the day

and night.

61. (1) said (2) opined
(3) argued (4) elaborated

62. (1) alienation (2) orientation
(3) integration (4) confusion

63. (1) ethically (2) happily
(3) physically (4) willingly

64. (1) accidentally (2) occasionally
(3) intermittently  (4) frequently

65. (1) banging (2) wailing
(3) mourning (4) Tharping

18
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Directions : (Question aumbers 66 and 67)

The following five sentences come from
a paragraph. The first and the last sentences
are given. Choose the order in which the three
sentences (PQR) should appear to complete
the paragraph.
66. Sl.
S2.
S3.

54.

The Indian woman wants

______.__.__._._______.__.________—_..._____

s5. And it is not too much to be

demanded
P. inamale dominated society
Q. her rightful place
R. as an equal partner

Choose from the options given below :

(1) QPR (2) PRQ

(3) RQP (4) QRP
67. S1. Wehadinour village

s2. S

s3. —

S4.

g5. near the river and throw stones into

the water

T

Whom I well remember who from

Morning till night would sit on a

~ stone
R.  Some thirty years ago a stupid boy
Choose from the options given below :
(1) QPR (2) QRP
(3) RPQ (4) PRQ

[CODE[ X | 1 [ 14 |

Directions : (Question aumbers 68 to 70)

Select the most appropriate option to fill

in the blanks from the given alternatives.

68.

69.

19

‘

My father as a teacher.

(1) working (2) 1s working
(3) works @) is worked
Leela Raju for years about his

smoking habits, but he just won't listen.
(1) warn

(2) warned

(3) have been warning

(4) has been warning

Had you told me the short cuts earlier, 1
the contest.

(1) will have won
(2) would have won
(3) would be won

(4) will be winning
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Directions : (Question numbers 71 to 75) 74.

Select the meaning of the given phrases/

idioms.

71.

72.

73.

To bury the hatchet.

1)
(2)

&)
4)

To dispute over small things

To destroy

75.

To make up a quarrel

To repair a costly furniture

To turn over a new leaf.

1)

(2)
®)
(4)

To change one’s behavior for the
better

A snake in the grass.

(1) a very poisonous snake
(2) a secret agent

(3) an uni‘ecognisable enemy

(4) not trustworthy

To be above board.
(1) Tohavea good height
(2) To be honest in any deal

(3) Tohaveno debts

(4) To be secretive in any deal

Directions : (Question numbers 76 to 80)

To read something attentively

Choose the word which best suits to £ill in the

To remain vigilant

76.

To become cautious from now

Once in a blue moon.

(1)
(2)
®)
(4)

frequently

77.

on a New Moon day
only once

rarely

20

plank from the four options given below.

Mini was badly by the news
which she got in the letter.

(1) electrified (2) petrified

(3) deranged (4) shaken

The car driver was arrested for rash
driving and his license was

(1) impounded (2) confiscated

(3) suspended (4) penalized

-~ wm -
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78. The chairman will come here at 5 p-m. to 82.
a lecture.
(1) offer (2) speak
(3) talk (4) deliver
79, Cellular phone service has a
new phase of communication.
83.
1) called (2) ushered
(3) paved (4) started
80. AIDS is not 2 disease that can be
through the air or by insects.
(1) circulated
84.
(2) transferred
3) transmitted
(4) disseminated
Directions : (Question numbers 81 to 85)
Choose the corrbect word to substitute the
phrasal verb underlined. 85.

81.

She could not putup with all his nonsense.
(1) tolerate (2) wear

(3) accept (4)

allow

21
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They decided to do away with the old

system.

2) repair

(1) remove

(3) prepare (4) reject

Rosy put on her make-up very carefully.

(1) reduced (2) applied v

(3) wiped out (4) cleahed

The burglars got away through the

window.

1) entered 2 - escaped

(3) Tbroke (4) jumped

1 am not able to make out anything from

AL s

your speech.

(1) conclude 2) understand

(3) create (4) prepare
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Directions : (Question numbers 86 to 90) 90.

Which one of the following sentences is

correct ?
86. (1)
2)
®)
(4)

87. (1)
2
3)
4

88. (1)
2
®)
4)

89. (1)
2)
(3)
(4)

He is more lazy than stupid
He is more lazier than stupid
He is lazier than stupid

He is laziest than stupid

Let the window be opening
Let the window be opened
Let the window open

Let the window opened

She can speak Japanese, will she ?
She can speak Japanese, won't she ?
She can speak Japanese, can she ?

She can speak Japanese, can’t she ?

I can be able to repair this machine
I can repair this machine
I am able to repairing this machine

I can able to repair this machine

22

2)
®)
4)

Ruth didn’t turn up, nor did Anne.
Ruth didn’t turn up, Anne did nor.
Ruth didn’t turn up, did nor Anne

Ruth didn’t turn up, Anne nor did

-000-



91.

92.

93.

[copE] x [ 11 |14 |

MATHEMATICS / &ewfl51D

Let N be the set of natural numbers and P
be the set of prime integers in N. If A=
{n/neN, n is a multiple of some prime peP},
then N—A={ne N/ng A} is :

(1) empty set
(2) of cardinality 2

(3) afinite set of cardinality greater than
2

(4) a singleton set

The sum of the first k natural numbers is
A, for a certain k > 1 ; the sum of their

cubes is B, then log /z B is:
1 4 2 3

©G) 2 4 1

Given that P(x) and Q(x) are polynomials
of degree 3 with real coefficients, which
one of the following is not true ?

(1) deg[P(x) x Q)] =6
(2) deg[P(x) + Q)] =3

(3) deg[P(x)—Q)] =3

@) deg[lP()PIQx)P | =15

91.

92.

93.

N eraiLig @Qwe eramsefien sewrd, P
eramiig) N -6 e drenr U&T erewrsaflen
sawTld eTend. A= {n/neN, n eremuig)
FgGse@wr@m LsT ere peP-eu
LG} erafley, N—A={n e N/ng A}
GreoTLIg)

1) Qeupmisseamrom@GD
2) <8 erawr 2 QaTETL SETOMGLD

(@) <pd erewr 2-gg ML HswLTS
QsTeRTL (Plg.6|M) SETLOTGHD

(4) @mUL SERTOMGLD

A eraTugl S k @uicd eretrsat e
FmBso, k > 1 wombd Seupdlen
samsafean sn(Hsd B eraflev log z B =:

1) 4 2 3
G 2 4 1
P(x) Lo M Lh Q(x) 6T 60T L 60T

QuQuiaTsamer C&H(LPESETTEHAD Ll
3 -1b Qarear LeoaniliLg Careneuser
arafler, Aemeu(peuaTeUDMIET 6T g
sflwreng o ?

(1) deg[P(x)xQ()]=6
(2) deglP(x)+Q)]=3

(3) deg[P(x)-Q()] =3

(4) deg[lP()PIQ)P | =15
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94.

95.

96.

Suppose that a quadratic polynomial
x2+bx+1,b € R, has two zeros which are
both real then which one of the following
is necessarily true ?

(1) b can have infinitely many values
(2) b has a unique value

(3) b has at most two distinct values

(4) Db has at most four distinct values

It is given that there is no solution to the
system x+2y=3, ax+by=4. Which one
of the following is true ?

(1) ahas a unique value
(2) b has a unique value
(3) a can have more than one value

(4) a has exactly two different values

The unit digit in the decimal expansion of
725 is

@ 1 2 3
@) 5 4 7

94,

95.

96.

x?+bx+1beR, erein @(HLilg LIOEIDILI
H&Carenau  @reawr(® O wu6lwer
UFSlwmsamers GupPlmas Gemeu(meu
ereupmeT s Lmwwrs slurs @)hés
Couewriq Wg)
(1) b ez (pigetiedl erewrentlsans-
wfled wHiLsemeT CLHO(HSELD
(2) b‘éci,mgj Crwmm wdHlemul

AIEIGEICTY

(3) b yearg HsulFD @Qrewm®H
Coumul wdllysamaerd
GLpBHlBHEED

(4) b yeig ASlsULFD BranG
Caumrui L w&llisamenrLl
AubAmEE

Gaerhsslul L x+2y=3, ax+by=4

ety CgrellneE Sfey @Qdame

rafled emelmeuareudmer &iflwimenr

P -

1) a ey eCrowmm wHlemul
QuOOl(HSED.

2) b yeng eCrowmrm wHiemul
QUOHDH (&G LD.

(3) a gl eamsE Goul L
wdllLsamary CUDHBI(HEEGLD.

(4) aoeng sflwurs @rew
CaumuLlL wHlysamerdy
QUM (HESLD,

7% -an g5 afeursssd pammreus)
Q&S :

1 1 @ 3

@) 5 @ 7



97.

98.

99.

100.

101.

If the sum S of three consecutive even
numbers is a perfect square between 200
and 400, then the square root of S is :

1) 15 2) 16
(3) 18 4) 19

The numbers are arranged in the
descending order : 108, 94, 88, 82, x+7,
x—7, 60, 58, 42, 39. If the median is 73,
the value of x is :

1 72 2y 73

(3) 76 " (4) 75

The mean of 16 numbers is 48. If each
number is divided by 4 and diminished by
3, then the new mean is :

1y 12 (2) 48

3y 52 4 9

A natural number k is chosen from the set
{1, 2,3, ..., 100}. The probability that it is

prime, is :

1 1
M 7 @ 3

19 23
@) Too @ To0

a b
If A= (c d} where a, b, ¢, d € R such

that AB=BA for each 2 X 2 matrix B, then
b2+¢2 .

(1) can have any positive value
(2) 0
G) 1
4 2

97.

98.

99.

100.

101.
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2AHSSHSS eparm @rlenl U Lenl
eraTsartien Fn(hBed S < peng) 200 @ 400
&G @enL_CuieTer g (P eUTEHsS
CTETETTGLD cTErtled, S -6 GUTGE PLPAILD :
1) 15 2) 16
3) 18 @) 19

108, 94, 88, 82, x+7, x—7, 60, 58, 42, 39,
S eTamser @@ euflenaudled
2 emermen. @eumdler @enLflanaw Sjemey
73 eramed, x -6 WL

1 72 @) 73

3) 76 4) 75

16 cramsafien syrafl 48 <y @b.
eeuleUT(T eTEmEnamTLILD 4 46 UGSS!
3-8 sPIESTL SlevL&@b Ll grmafl:
1 12 (2) 48

(3) 52 4 9

{1, 2,3, ..., 100} erenim semrsSledl(mbgl k
T 6 Qwa erewr GCarbbsHEsL
LUBHSDE. DbeuaT LT eTapTanTTS

Qmss Hlspssa, :

M @
19 23
G T @ T

a b
IfA=(C d)@ré.l@a,b,c,deRLD[bg]Lb

eeuleumm 2x2 ewil B &@W AB=BA
cerpeurn @ @MBSTE b2+c? -an
wSllumeng).

1) gCsayb ¢ Wens wHILITEGD
2) 0

3G) 1

4) 2
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102.

103.

104.

105.

106.

If each side of a rectangle is increased by
20% then the percentage increase in its

area 1is :
(1) 40% 2) 20%
(3) 44% (4) 30%

The perimeter and area of a sector are
18 em and 20 sq. cm respectively. Then
the length of the arc is :

(1) 10cmor 8 cm
(2) 10cmor5cm
(3) 10cmor4cm
(4) 20cmor2cm

If secf+ cos® = /5 , the value of
sec20 +cos20 is :

(1) 5 2) 7
(3) 25 4) 3

The value of
sin? 4+ 5° 4+ sin?10° + sin215° + ... + sin290°
is :

1
1 s @) 95
G) 9 4) 10

ABC is a triangle with vertices A1, 2),
B(m, 2), C(1, ), then the orthocenter of
the AABC has coordinates :

2+ 4+
(1) 3 3

m+1 2+ 7
(2) 2 2

102.

103.

104.

105.

106.

R Csaieusgdlen geaiCarm LEs
Sleteneud 20% ifsNgsre oigan
Lpluete] 2iFlsls@n sselisn

1) 40% @) 20%
3) 44% 4) 30%
@m LL&Gasrawl ugdHulen

&HeTe] WwHmIL UFluere] wpenGu
18 Q#.15. 20 5.Q5.18. erafled aNeved
Berd -

(1) 10 Q&.18. deg 8 Gs.15.

(2) 10 G&.5. ivag) 5 Gs.18.

(3) 10 G&.1b. eg 4 Qs.15.

(4) 20 Q.15 g 2 Q8.8

secO+ cos® = /5 eraflen,
sec?0 +cos?0 -eir LI
1 5 @ 7
3) 25 @ 3

sinZ +5°+ sin210° + sin215° + ... + sin290°
oSl :

ol -
.2 :

¥ 8 (2)

3) 9 @) 10

s

&Gamenmd ABC-6i wenenser A(l, 2),
B(w, 2), C(1, ) eraflé® AABC -ai
COsmGarl(  awwsder Ess

Qsrenaeyser .
247 4+ 7w

(1) ( 3 7 3 )
T+l 24 1

(2) 2 7 2 )

3 @2

o [33) ,



107.

108.

109.

110.

The circle S, has centre at (1, 2) and radius
3 ; the circle S, has centre at (9, 8) and
radius 7. The circles Sy and S, touch at

the point whose coordinates are :

v (22 e 2y
% 3)

It is given that there are 6 straight lines in
a plane so that no three of them are
concurrent and no two are parallel. Then
the number of points of intersection among
the given six straight lines is :

@) 12
4 3

AB is a chord of a circle S subtending an
angle of 20° at the centre. Suppose AB
has length 1008 units and CD is another
chord having length 1512 units, then the
angle subtended by CD at the centre is :

30°
25°

(1)
(3)

40° )
60° (4)

Ifx=3+x/g,thenx4+i4is:
x

(1) 1056 )
3) 1156 (4)

1158
1154

107.

108.

109.

110.
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Sy eremm el L gdlen epwwid (1, 2)
LODID T 3 ; S, eramm el L Gglen
ewwid (9, 8) wLHMDL D 7.
QULLmigGaT Sy, S, Agm (W& QamemenLd
yerafluden oi&sé Qsreneeysar :

o ($3) e (33

1719 B 31
®) (10’ 10) (4) (10’ 10)

R sarsSle Qar@ssliul_(Herer 6
Cpr&CGarpasaiier erbs ppermy Cpié
Cer@s@pnd @Cr yarallla spdl
ugleme wHmD ahs Q@ Cris
CarhasEnbd @amamunrse)bn Eama
arailer, darGasiuL on Chis
Cer@ser srsErsGa Geul s
Qamarenb Yerallsafien eramentsans
1) 6 @) 12

3) 15 4) 3

AB eretip mprewr S eranm eulL Gdlen
WSS srEiED Caranrd 20° Bremr
AB -ar ferid 1008 je@&eT LHmib
CD erenmugl 1512 Sja@asen Barupdrer
wHEpT® Breamw erefd, mream CD
<G| eul L gSlen eSS SThIGLD
Carenrd :

(1) 40° (2)
(3) 60° (4)

30°
25°

_ . 4 1 . .
x=3++8 erafléd, x +x_4 -&T Gl

(1) 1056 ()
(3) 1156 (4)

1158
1154
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SCIENCE / ojmleSlutev
111. Light year is the unit to measure : 111. gafl oy e 8 SATEHSL
LweTL (HEmg.

(1)  the distance travelled by the light in 1) @rravged el Qedodamigw
a year CsTranaey.

(2)  the distance travelled by the atoms (2) @RUTETgD SamdsEET Qewws
in a year Falg il Qg,rrsmvm.

(3) the distance travelled by the earth in @) @rragd Yt CFoe&am i w
a year Qg reneay. ;

(4)  the distance travelled by the sound (4) @rramigd @l GFdosamigw
in a year CsTemeavay. ‘

112. The in running water turns a = 112. uruyib Bfled o drar 2,DMev,
turbine to run a dynamo and produces FPW FEGIREmET Quks CFug),
electricity. Blererrpmed o HusH GeuiuliLiwen-

L& Dg.
(1) Kinetic energy 1) Quwss < Hme
(2) Potential energy 2) Hene <y Hmed
(3) Heat energy 3) Geuliu ymmed
(4) Magnetic energy (4) &THS YPOmed

113. A football has lesser inertia than a stone 113. @Cr =areyerer sreoubdler HlaneLot,

of the same size because : 2G5 ieTajeTar saallan Heavwosms

el @enme], gllarafe :

(1)  football has more air inside than the 1) sroupded s srHm 2_GarTg).
stone

(2) football has less air inside than the 2) sroupded Geopeuren sTHm
stone 2 EeTG).

(3) football has less mass than the stone (3) sreoupdear  Hleopm, seaden

Blepmenit 69L& Gepmay.

(4) football has more mass than the (4) sreoupdler  Hlop, soadlen
stone Blevpenws e S LD.

114. Sound travels faster in : 114. ool &0 Geusons Clgde)b.
(1) water (2) steel (1) B (2) eTosE
(3) wood (4) air (3) wFEsLeL (4) srtHm

. .



115.

116.

117.

118.

The energy transformation in Mixie and
Grinder is :

1)

Electrical to heat energy

(2)  Electrical to mechanical energy

©3)

Electrical to sound energy

)

Electrical to light energy

If the mass of the body on the surface of
the earth is 50 kg, its mass at the centre of
the earth is :

(1)
(2)  more than 50 kg
(3)  less than 50 kg

4)

Zero

equal to 50 kg

The pressure of a given mass of a gas is
inversely proportional to its volume
when :

(1) the temperature increases

(2)
®3)

the temperature decreases

the temperature remains constant

(4)

there is an absolute temperature

The force experienced by a boy in the 118.

merry-go-round is :
1)
(2)
)
4)

centripetal
centrifugal
gravitational

magnetic

115. Bbgal

116.

117.
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LoD mILD LTe| BMTenay

Qupdlrd gdwaphle ahu@n

OO WDImLTE :-

1) Wemerrpmed Qeuriw BDDOTS

LT M S0

161 67 601 ) ) € THET Y hmers

LOIT M) & 6D

LB 616wt 1 m 6> R <y Howrs

LOTMIGHeD

(4) Slewermnmed Rl Gy hpeors
LOTMISE

()

3)

HelliupiQe g Curmefar Hlenm
50 &lGer dgrib erefe, Ljet udl et
@LWHSD Qurmefen Bleom :

@) sy o

(2) 50 HiCer Ayrepio el Sla1b
(3) 50 G yrenin 6l Genmey
(4) 50 £Gevrr Elrmilhe soib.

GOUELL Aevmuerer 6u Ty el e
DY TLICUTE @isen sarsar-
i@ ardlirsssaia S(EMLOUYLD.

(1)
)
®3)

Gl@u&uﬁ]emv é@&;lﬂé;@m@urr@
CleutiuBlenay G@DWbLCUTg
eautiuflener wrprne @ (/&

GLGUTg
(4) Osoefer CeuiuBleneude
OIGEIGIINERL Y

R0 Slmicue 7y ergded FOMLCUTE
2 WI(HD 6lens :

(1) eww Crras

2)
3)
(4) &g lens

W alled s
Hell iy
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119. Atomic clock is based on the principle of 119.

120.

121.

periodic vibration in the :

(1) Polonium atom
(2) Uranium atom
(3) Carbon atom

(4) Caesium atom

In any electrical circuit, the direction of
flow of current is :

(1) same as that of the flow of electrons
(2) opposite to the flow of electrons

(3) parallel to the flow of electrons

(4) stationary

Which is the correct answer for the circuit
given below ?

Iy R, w»

__<___{ ey

Battery Key

1) i=iy=ig
(2) Vi=V,=V;
() Ry=R,=R,

iV _ Vs

10

120.

121.

e ghu@n Errer
sflieysetien oiqliumLuid oigms
S ETIRISET &GS emer.

(1) QurCerefwib Slam)
2 yCralwbd =g

(3) sTiUET W)

(4) FAwbd g

@@ Wer sndled, WerGanr L gHlen

glengwireng) :

(1) s graser QuEiGn SHos-
uded @SS L.

(2) ereslpranger QuBGL SHens-
&© eréliglansuiiey @m&@ibd.

@) s yratsedr QUG SHos-
5@ QOETLITS @)(HEELD.

4) Boeowrs QmeEELb.

EpsaL WOarspdnasTar &fwmer
eflenL :




122. The consumption of electrical energy in the

123.

124.

125.

-(4)

house is measured in terms of

(1) Kilowatt hour
(2)
(3)

4)

Watt hour
Joules

Kilo joules

Dry ice is an example of ___ =~
process.

(1) evaporation

(2) crystallization

(3) sublimation

(4) purification

Solubility of KNO3 :

1)

increases with temperature

(2)

decreases with temperature

(3)

remains constant with temperature

(4)

is not related to the temperature
fluctuations

are alloys of Iron, Aluminjum,
Nickel and Cobalt.

(1) Brass
(2)

)

Bronze
Solder

- Alnicos

11
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122. &i(psafied HweTuhssUIU@Em WlemenT-

124.

125.

- 2 erualEs iy

DO CTGUTD DHEOHTE) G-
sULRhEDg)

(1) SlCemeurt wewh

(2)  eurlwenf

@) gra

(4)  SGem goe

Bapeine
R T(HSZIGST_ () G LD.

1) yelwurse

)
()
(4)

Uig LD TS0
ug,réwsmrr‘a_;@i)

SMLIGHLOUITE S

KNO3  sanydmer :
(1) GQeuduglena Qurmés EYESEES
glemg,.
Caiuflee Qurmss Geon-
glermg,.

(2)

3) Geuliublene QUmmSE WTHTLOED
Qm&dlenms).
Cariuflenae wrpLTGsmars

&Wﬁ'(ﬁjg;g‘;é’h@l. '

(4)

oy, s@iflailub, Bléasd LD MWD
Corurerl o du o Carshsd
9 Ll Wy o> Caonss

erarliu(Gdmg.

&0 an e
(1) dgemar
)
(3)
(4)

Qeuamsab

UDmTa
Sjevaf Camen
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126.

127.

128.

129.

130.

exists as a dimer.

1) HgX @) Mg+

(3) Cu?t (4) Ca2*

The phenomenon of producing a 127.

characteristic sound when a material is
struck on the metallic surface is

(1)  Ductility

(2) Malleability
(3) Sonarity

(4) Conductivity

Copper reacts with dilute nitric acid and  128.
liberates

(1) Nitrogen dioxide

(2) Nitric oxide

(3) Nitrogen pentoxide

(4) Nitrous oxide

The pH of 0.1 M NaOH is : 129.
(1) 13 2y 12

3 11 4) 10

Identify the type of reaction taking place 130.

in Fe+CuSO, — Cu+FeSO,
(1) Redox reaction

(2) Displacement reaction
(3) Neutralization reaction

(4) Precipitation reaction

12

126.

TGN PO&FRD @TL el -
wrs GG sramiu@Hng.

(1) Hg2? 2)

@) Cu®* (4)

Mg2+

Ca2+

e Carels urinQar 18g oiflieysaen
ToUGHSEDLCUTE (CYINTEI: -3 7:2
QPEOFEDW 2 (HEUTHGHD LT

1) sLlwrs wrmn @udy
(2) seLTE ML Quiel

@) Q@& 2 (HaurdEL Qe
(4) &L58l Sman

smblyd, $iss epl s widwsger
Meveryfpg
CeualCuhmdpg).

QUMM al

(1) oBLrmer el <y&emav()
(2) opLils <y damen()
(3) epLrmer GueTLré&mav()

(4) eBLTeL Y Hemeav(

0.1 M NaOH & pH g1 :
1 13 @) 12
(3) 11 4 10

EpssarL oNenaruien euansa s
gant(591q :Fe + CuSO,—-»Cu + FeSO,

1) sellgnCardp pHss efamer
2) LU Quuiréd elenen

3) BOblWrEsd elenar

(4) &lpugeaITsEsd cfaner

-



131.

132.

133.

134.

135.

@)

The constituent present in baking powder
is :
(1)
(2)
(3)
4)

sodium benzoate
acetic acid
sodium lactate

tartaric acid

Which metal is
hemoglobin ?

a constituent of

Ca
Co

(1) Zn
(3) Fe

(2)
4)

The total number of groups in Modern
Periodic table is

@ 7
@) 18

@ 17
4) 8

Movement of water and mineral salts in
plant is :

1)
(2)
(3)
(4)

Osmosis
Absorption
Ascent of sap.

Active absorption

is the pollutant released from 135.

air-conditioner.
(1)  Chlorofluoro carbons
Carbondioxide

(3) Methane

4)

Carbon-monoxide

|CODE] X [ 11 [14]

131. @;rrqu CerLmrele 3Lkl erer

132.

133.

134.

Quim(mer :
1
2)
®3)
4)

Gemguwib QuenCamGui_
136 flevid
Gemg b ersGLL

Lrremfé oideod

Qréssdan  Haiy  Hpsda
(adGumgGermer) 2 Gargid
2_6Teng;.
(1) Zn
(3) Fe

Ca
Co

(2)
(4)

156 et WUTEFHERT 3 L_L_ 6 em 6wt ud 6b
QzTEdser o drarar.

2 17

“4 8

a 7
3) 18

B wpYb saflo o Ui gser &S5~
U@L BlEpes :

(1) seugy® ureie

) edepase

3) esrCpoHmwd

4 2\@iiy 2 Higrasen

@afliergen QU saflelmbg Qeuef-
Cuppliu@id LOT&LIGlLIT(meT

1)
)
(3)
(4)

GGermCrmlierCrm smirLier
STTUGTENL_ 2, SHen gL
BCsem

srTuer CureTT&ense.
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136. Brown haze is caused by . 136. srpm Qebuwiy Howrs Lrné
STTERTLONS elleriigHermar.
(1)  Hydro carbons (1)  eanCrr smiues
(2) Nitrogen oxides (2) pLrmer <ysmshHsdr
(3) Particulate matter (3) gisensmar
(4) Smog (4) uvellyems

137. The integuments become after  137. shoyms@sEL  Gen &I M & 6T

fertilization. %5 rmdlermen.
(1) seed (2) pericarp 1) eleng (2 Quilsmid
(3) seed coat (4) fruit B) desymp @) s
138. Anemophily occurs in . 138. aflGom..Qad )
B Cumndpg. ’
(1) Pinus (1) ewuaTeL
(2) Jasmine (2) e
(3) Lotus (3) srTweny
(4) Vallisneria (4)  euralevCerrflwm
139. Match the following : 139. Qurpsgs.
(@) Vaccine - Wilmut @) sHuys - 6)961)(501_
(b) Dolly - Sir. Ronald Ross (b) Lmed - &7 Crremren_
FIT6n
() Plasmodium - Edward Jenner © QerrevGuor- - erieui(®
‘ lg-WILD Clgyeeir

1) (© (@) (b) 1) (©) (@), (b)
) ®) @ @ (2) ®) () (@
3 ®) @ © G ®) @ ©
4 @ © b 4 @ @ b

140. Which one of the following is an Italian 140. &0 & T ou ) 6T TE QssTlw

honey bee ? Caef ?

1) Apis dorsata 1) glev LriGel L

1) Ap (

2)  Apis adamsoni 2)  glev oL bCarad)
p _ <2b

3)  Apis mellifera 3)  alleb F&wedl.Lipm
P

4)  Apis florea 4)  glev LCermrRwr
P

14



141.

142.

143.

144.

145.

Hyperthyrodism causes . 141.

(1)  exophthalmic goitre
(2) simple goitre
(3) myxoedema

(4) cretinism

Pick the odd one out with respect to 142,

Mendel’s observation.

(1) Tall and dwarf stem

(2) Smooth and rough stem
(3)  Yellow and green seeds
(4)  Violet and white flowers

Pick out the pollutant. 143.

(1) Carbon - monoxide
(2) Oxygen

(3) Nitrogen

(4) Hydrogen

The name “protoplasm’ was coined by : 144.

(1) Robert Brown

(2)  Robert Hooke

(3) Anton van Leeuwenhoek
(4) Purkinje

BCG is an effective vaccine to prevent : 145.

(1) Tetanus
(2) Tuberculosis

(3) Diptheria

(4) Pertussis

15
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WADUT DG TTUlig 601D
Crmrenws 2 L &GS mg).

1) eGerlisreofs smin i
(2)  ereflw smiLr

@) WBEefigor

4) Sflgeaflevid

Cluar d& pLgdHu < Welleruilg
AurGpsns gaops Csipas.

1) Qplen, Glen Seur ()

(2) GQwerenwiren, &I GTLOTE Getor(h)
(3) WERFET, LFwE eflengaar

(4) eagr, Geudraner waiger

& D& & i L_eu ) eir wreEubGsHeaws
Csib6z0.

(1) srruer CorCeaméeans.

(2)  safigen

B)  eplrger

(4)  ewaml regan

‘yerlrQerrsin’ erarm Glerena
2 (heuTddlweur ;

(1)  @ururl 9Qgerer

() - @rrurl. ans

() eI eumem U {eUeTAD TS

(4) yrlemgd

BCG eremmiigy :

(1) Qi remen

2)  srsGrmu

@) gleflur (Osrame e Li-
LITeaT)

4) s&E@GeuTer @(mine
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146.

147.

148.

149.

150.

SOCIAL SCIENCE / &ep& nlefuiev

The reign of witnessed the

golden age of Mesopotamia.

Nebuchad Nezzar
Summu Abu

(1)
)
3)
(4)

Hammurabi
Saragan I

‘Zend Avesta’ is the holy book of the
(1) Greeks

(2) Romans

©)
4

Parsees

Egypt

title “Lion-Heart” was given to

(1) Philip

(2) Richard I
(3)  Fredrick

(4) Nicholas

was the first person to coin

" the word “socialism”.

(1) John Kay
(2) Henry Cort
(3) Robert Owen
(4) Karl Marx
is called the father of modern
science.
(1) Kepler
(2)  Friar Roger Bacon
(3) Galileo
(4) Newton
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146.

147.

148.

149.

150.

__________ <L AdsTe D
QusuGLrBlureder Qurhsrowrs
SMHSLLLLg).

(1) Opysrs Cpef

2 s oy

(3)  ambdeprd

(4) (WPHOTD FFEHe

Cgal. Sjeusvg yeaflg
BIOTELD.

(1) &ICr&srsaflen

(2) Crroreilwrsaflenr

(3) urpfsrsefer

4) erdludwursefen

Args @ewbd eretm ULLL Quui
Cupmeur _

(1) Qe

2) wsgerd fésr

(3) WreLAs

(4) Blasreen

“Geragalled” erarp urisemnsen i
WPBpSeiler 2 (Heursdlwieui

(1) gren Cs

(2) Gamem il
(3) @ururl eeue
(4) &I WLTTSEL

pefar oflefwuder shams

(1) GCeleri
@) SLGmwir Grreyt Guéser
(3)  sdNCwr

4)  Blup e



151.

152.

153.

154.

155.

156.

The Bill of Rights was passed by the British

Parliament in AD.
(1) 1789 (2) 1793
(3) 1614 (4) 1689

The
ruling over hilly region.

were the petty chieftains

Panar
Kalabhras

Veliars

(1)
(3)

2)
Viraliyar 4)
The and
formulated the Open Door Policy.
(1) India and China

(2) USA and England

(3) Russia and France

(4)

Italy and Russia

“New Deal” was formulated by :

Woodrow Wilson
Harry S. Trumen

(1)
(2)
(3)
(4)

Franklin. D. Roosevelt
Herbert Hoover

The number of judges in the International
Court of Justice is
(1) 54
3) 15

@ 5 |
4) 192

The present speaker of Lok Sabha is :

1)
2)
)
(4)

Tmt. Sumitra Mahajan
Thiru. P. Dhanapal
Tmt. Najma Heptullah
Tmt. Meerakumar

17

151.

152.

153.

154.

155.

156.
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A g6y LTpTEBLETDSSTD 2 Aanio-

sar wCsTsr QuIDDLILLL o)
AD

1789

1614

1793
1689

(1)
3)

2
4

D6 TS Brhsmer 2 & Gsis

Gnible wereriger ereumii-

UL L @i,

(1) Geuefli (2) uremrik

(3) e&flFedwr (4) semulyr
Eops Clauafls

Caretengeni 2 (meurddlen.
1) @Bslwreyd, Samreyb

(2) =Cwfssreyb, Qridlorhg)b
(3) regwmeyb, Gyrenad

4) Qssredlub, reigwimayb

“dlw vwgiflenw” ererm Erepioliné
Csretansemw o (HeursHweur

(1) oL Gpr efevger

(2)  aomM erev. (HemLoe

3) dpriisefen. 1. mpevGeucL

4) Oaniur’ epOeur

et h  SHovansde @b
Cupmierer FHLHseNen craramisans -
(1) 54 @ 5
3) 15 4) 192

Cargsureder spCurengw sur-
BTG :

(1) Sowd. sWsrT waTme

2) S 9. seurd

G)  Fmwd. phHwr Qanligdear

4) Hmwd. Srrgomi



[CODE| X [ 11 | 14 |

157. Out of 545 members in Lok Sabha, the

158.

159.

160.

161.

President generally elects two members

belonging to community.

(1) Russian
(2)
®)

(4)

Anglo-Indian
Italian
English

“Money Bill” can be introduced only in the
Lok Sabha

Rajya Sabha

Legislative Assembly

Grama Sabha

(1)
(2)
(3)
4)

The efficient functioning of the Legislative
Assembly is in the hands of the
(1) Chief Minister

(2) Governor

3)
(4)

Article

Speaker
Ministers

of the Constitution

protects the right of the minorities to

safeguard their distinct language, script
and culture.

(1) 23 (2) 30
(3) 29 4 32
Thiru.E.V. Ramasamy published

_________ , an English journal to
propagate his ideas.

(1) Revolt

(2) Democracy

(3) Wisdom

(4) Freedom

18

157.

158.

159.

160.

161.

Carseureing CasrblshHssu@BD
545 2 pulerisafier, Qurgeurs
Gwrss Fooaurred @y
o milndenraer Hluidlssi-
L Slermerr.
(1) rogwrser

2) YmslCor Qbslwrser

(B) Gssrelwiraser

4) <Y rHCawrser

B wCasrgréser ______ __ -udlev
L HGL GaTearhieur LplgULb.

&)
2)
)
(4)

brfle L UGureeuemwd SmbuL
BL &SI CQummili FTTHSST(GD.

LDEHSHETEH6U

L ThlkISaTena.
g UGureneu
ST Fgenu

(PSOMIDEFD T

@) 2pevpeors

sl UGUremeus sameaeLanTs
S| DFFTEE T

Srfluewewly Yfey ___
Agurenenuferflen Gwryl, erpsa

LOMID LeTUTL Pl LITEISTSES DS

(1)
(3)

. F.Cou. grogmsl )
Y mfle @z Geuafuil®, seren-
LW QararenssaneT LFLSerT.

(1) MGeaumreb_

(2)
©)
(4)

23 @)
29 (4)

30
32

QLiorsré
e evLLb
oo LIfFLLD
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162.

163.

164.

165.

166.

is the first state in our country ~ 162.

to recognise Transgender.
)
(2) Tamil Nadu

(3) Maharashtra

(4)

Kerala

Karnataka

The South Asian Association for Regional
Cooperation’s first meeting was held at

(1) Thimbu (2) Colombo
(3) New Delhi (4) Dacca
Apart from India, __________ is also

following multiparty system.

(1) France
(2) England
(3) China

(4) America

The Chief Election Commissioner of India
is appointed by the

(1) Prime Minister

(2)  Supreme Court judges
(3)
(4)

President

Governor

The Western Ghats enters the Tamil Nadu
state through district.
(1) Coimbatore
(2) Krishnagiri
3)
(4) Erode

Nilgiris

19

163.

l64.

165.

166.
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SBHBRIMSLI®]T peTHTD LTeSamors
poeapsdler mssflss wrbew
(1) Cagerr

2 sLlpprE

(3) waTFTEYgFT

(4) &THILST

OsnE Bfwu priseier Grrpdw

S L Lenwl e

P D  SLLID
B Gupp @L b
(1) &y (2) Qsmpoy
(3B) usdoad 4) Lrgsr
@QuHwur wl G L&

sL8lsem pepmenwils Gamupmdlenpg.
(1)  Yyrengb

2) @rderbgb

(3) &enmeyid

(4) oCwfssre)nb

godureilen  samawmw Csisd
pearileny GCHrbOSHLILeUT :

(1) drsw wpHh

2) e ésBdlwen EHuser
gamglug
Y pEnph

SUOILET 196 CopEs CsTiTE8 wene
s mevpdma.
(1) Gsrwbysgnr

(2) Hmegaurdlf
() Bedlf
4) mCrr@
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167. The cyclone which affected the Cuddalore

168.

169.

170.

171.

district in the year 2011 is
1 Jal @)
(3) 4)

Rita
Nima Thane

Mangrove vegetation in India is most
extensively found in :

(1) Malabar
(3) Kutch

Sundarbans

Odisha

(2)
4

The power station which started
generating power recently in Tirunelveli
district is :

(1) Kalpakkam
(2) Aralvaimozhi
(3) Kudankulam
(4) Neyveli
has the leading BPO sector in
India.
(1) Karnataka
(2) Kerala
(3) Maharashtra
(4) West Bengal

Demography means

(1) study about climate

(2) study about minerals
(3) study about population
(4) study about landforms

167.

168.

169.

170.

171.

2011-1b 4Tiq.60 HLMT LOTEIL LSS
sréaSu Luedler Guwi
1 g @
(3 Hlor (4)

FoLm

grGer

@pdurele sgiy Has sr@se
@fsors sTaTIUD UGS

(1) (2)
(3) (4)

LEUITT &Eg,r'rammb

SL& RIq &

8w BoGa6 preul_LgHa sHGurg
Oler <o 2 HusH GFTLRISLILIL-
Merer emiblen Hlepewid S|GMLD[H-
glemerm @L 1D

(1) SOUTESLD

2) <proauruGnrg
(3) L HIGETD

4) QpuCaued

@pdwureiler Ceuallaisss Qeweouim-

Qsmar  AHHOTEE  @HWTEHLD
bl

(1) &THIL&T

(2) Garerm

(3) amTyTelqyT

(4) CopEeURSTETD

QLCurdlgm9 eremig)

(1) sreboe GHse Uy

2) srg elussar GHSS Uiy
(B) w&seaT QpTes GHSS Uig Y
4) HasCemppd GHSs Uiy
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172. Udayamarthandapuram Bird Sanctuary is

located in district.
(1) Thanjavur

(2) Thiruvarur

(3) Ariyalur

(4)

Nagapattinam

173. At present, there are states

and union territories in India.
(1) 28,8 (2) 29,9
(3) 30,7 4) 29,7
174. is used for the manufacture
of dry batteries.
(1) Manganese dioxide
(2) Sulphur dioxide
(3) Hydrogen sulphide
(4) Magnesium sulphide
175.
world.
(1) India (2) Brazil
(3) Russia (4) Cuba

demand is

(1) Climate

(2) Expectation of future price rise
(3) Price

(4) Supply

21
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172. 2 SWIDTTSSTETLL|FD LDEHEISET

FTERTTEOWLD wreul_ L gle |
DD DBFIETETS.

(1) sepsrap

2 Heurent

(B)  eflwent

(4) Br&ULL gD

173. goCGurg @pdwrele

mw@@rélas@m e Wweflwen
GrCgamisEnh o drerer.

(1) 28, 8 2 29,9

3) 30,7 4) 29,7

174. 2 o WG BIGET swrflés

LweauHEng).

(1) wrEsals L <yéaeant.
(2) sour ML Y dmevL

(3) el romer sl

QusaTHwid FdenLL

4)

is called the sugar bowl of the 175. 2 @wdlar &Gy & e anrbd er )

SDPEEULEHLLD BT
1) Qpdur (2)
(3) rpeagwm 4)

ACréle
&y

.
176. The most important determinant of 176. Gseeuamws Siwraflsen s WPpa Hw

STireutl
1)
)

cumertlenev

GTEITUMT&ES ILMD GU(HRIST
clleney 2 wirey

aflene

fefliiy

(3)
(4)
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177.

178.

179.

180.

Air conditioner, Diamond jewels are 177.
examples of goods.

(1) Comfort

(2) Luxury

(3) Necessary

(4) Very low priced

If the price is greater than the equilibrium  178.
price, supply is the demand.

(1) more than

(2) less than

(3) equalto

(4) greater or equal to

Generally in India, methods  179.

are used to arrive at the National income.

1)

Income and expenditure

(2) Product and expenditure

(3) Product and income

(4) Product, income and expenditure

___ comes under secondary 180.
~ sector.

(1) Electricity

(2) Agriculture

(3) Transport

(4) Insurance

-00o-
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Gefiersar Gully, ealf BEn&SET

oy fuemer ____ QUIGLSETTEGLD.
(1) eusdHwren

(2) <yLury

(B) sHwreudlu

Naald eflenad @enmeu et

4

Mave, swHlae elmeaa el
fswrammed Sfafliy Caemeuanw

el GEICIDE
1) <idswrs

(2) ©GmDUTS

(3) &wLWLTIS

(4) FHD SDOG FOOTS
@Qpdwurede Curgeurs
Brligen aBiorard samréduub-
gl

(1) eumwraD wHpb Cewaian

pemmudled

@) 2puss woHmb Qseweier
penudle

(3) 2pugs WHHD eHLOTET
wpenule

@) e pHusH, eupLTEID DHMID

Qeeeler penmuded

@ramrd gopler & eimalgl

(1) Wengmyd

(2) efleusmwibd

(3) Curs@erss!

4) srUSL®H Himeuerhiger
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